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Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

Indian nationalism emanated from ‘traditional patriotism’, a socially active
sentiment of attachment to land, language and cult, that developed in the subcontinent
long before the process of Westernisation had begun. In India of the eighteenth and
early nineteenth centuries, such sentiments were emerging on a regional basis as
homeland was being defined by various terms like desh, vatan or nadu, where identities
were gradually taking shape with the development of regional languages and religions
affiliations. But although regionally centred at Bengal, Maharashtra, Awadh or Mysore,
their isolation broke down through various means of communication, the political
legitimacy of the Mughal empire was recognised throughout Hindustan, which was
thought to be the abode of both Hindus and Muslims; and cultural barriers melted
down through commercialisation and regular pilgrimages. As the East India company
established its hegemony, this traditional patriotism manifested itself through various
indigenous critiques of foreign rule deviating from the established ethical traditions of
good government and through irate reactions to Christian missionary propaganda.
Finally, it burst forth through numerous acts of resistance, participated by both princes
and the commoners, culminating in the revolt of 1857. After the revolt, a modern sector
of politics gradually evolved in India, through rapid spread of education, development
of communication systems, such as the railways and telegraph, and the emergence of a
new public space created by the colonial institutions.

1.  The ‘nationalism’ in pre-colonial India meant :
(A) Patriotism
(B) Linguistic affinity
(C
(

) Cultural construction of homeland
D) Social activism

2. What contributed most to the dissolution of cultural barriers ?
(A) Commercialization (B) Creation of mughal empire
(C) Pilgrimage (D) Communication networks
3.  The East India Company’s rule resulted in :
(A) Evangelicalism (B) Good Government
(C) New Ethical Tradition (D) Consolidation of patriotic sentiments

4.  The revolt of 1857 was :
(A) an aristocratic revolt (B) arevolt of the common people
(C) a reactionary upsurge (D) the culmination of the early resistance
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10.

11.

What was the most important outcome of the direct administration ?
(A) growth of education

(B) development of railways and telegraph

(C) evolution of a modern sector of politics

(D) growth of colonial institutions

Which among the following is associated with Palaeolithic :
(A) Chopper-Chopping tools (B) Geometric tools
(C) Pecking tools (D) Polished tools

Which among the following represents Mesolithic :
(A) Gathering (B) Hunting
(C) Food production (D) Domestication of animals

Which among the following stands for Neolithic :
(A) Nomadism (B) Transhumance
(C) Sedentism (D) Urbanism

Which of the following is associated with the Harappa Civilization ?
(A) Chauntra (B) Langhnaj (C) Mehrgarh (D) Ahar

Given below are two statements one labelled Assertion (A) and the other labelled

Reason (R) :

Assertion (A) : The pace of human development was very slow during the stone
age.

Reason (R) : Primarily because humans were dependent on hit and trial method
of learning.

Read the above statements and select the correct answer from the codes below :

Codes :

(A) (A) is correct, but (R) is wrong

(B) Both (A) and (R) are correct

(C) (A) is wrong, but (R) is correct

(D) Both (A) and (R) are incorrect

Given below are two statements one labelled Assertion (A) and the other labelled
Reason (R) :
Assertion (A) : The first urbanization in India decayed by the end of 3rd millennium

BC.
Reason (R) : This was caused primarily by the changes in climatic conditions.
Read the above statements and select the correct code below :

Codes :

(A) (A) is correct, but (R) is wrong

B) (A) is incorrect, but (R) is true
) Both (A) and (R) are correct

D) Both (A) and (R) are wrong



5. Ucdel YRIEA 1 Feliiyeh Haerqul 9oy R o ?
(A) Tora =t gfs (B) e 3R efurE & fawm
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9. frAfafEd d ¥ 1 g qwrar ¥ Trfgd ©2
(A) == (B) WIS (C) HeTQ (D) oTRIS

10. = < e 53 T € U I FeE (A) 3R TR R SR (R) A G g
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g
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(D) (A) 3R (R) S TTerd ¥ |
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HUT (A) : RA H YT YRR 1 T Heeeal 561 8 o 3 H 9a geTl |
SHIUT(R) : I8 HAYd €Y Y Sfcferyg Greret feefaai § afeadHi i o 9 ga o1
STdE w1 afed 3R e o &t Fe 1 == iR
g
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() (A) 3R (R) S Tl T
(D) (A) 3R (R) S TTerd ¥ |
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12.

13.

14.

15.

Given below are two statements one labelled Assertion (A) and the other labelled
Reason (R) :

Assertion (A) : The second urbanization occurred in the Gangetic plains during the
second half of the first millennium BC.

Reason (R): This was effected by the favorable climatic conditions.

Read the above statements and select the correct answer from the codes below :
Codes :

(A) Both (A) and (R) are incorrect

(B) Both (A) and (R) are true

(C) (A) is correct, but (R) is false

(D) (A) is untrue, but (R) is true

Arrange the following into sequential order and select the correct answer from the
following codes :

(i) Janapada (i) Mahajanapada
(iii) Jana (iv) Empire
Codes :

A) (@), @), @O )

B (i), (v), (@), 0

© ((v), (), @ (i)

D) (i), () @) @)

Arrange the following into sequential order and select the correct answer from the
following codes :

(i) Junagarh inscription (i) Allahabad pillar inscription
(iii) Aihole inscription (iv) Pathari Stamb inscription
Codes :

(A) @), @) (i) (i)

(B) @), @) (i), (v)

(©) @) (i), (@v), @

(D) (), @v), @), ()

Arrange the following into sequential order and select the correct answer from the
following codes :

(i) Ramayana (i) Samved
(iii) Mahabharata (iv) Ashtadhyayi
Codes :

(A) (@), (), (i), (i)

(B) @), (D), @), @)

(© @), @) 3>, @)

(D) @v), (), (@), (i)
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16. Organise the following into chronological order and select the correct answer from the
following codes :

(i) Fa Hsian (il) Megathnese
(iii) Huien Tsang (iv) Alberuni
Codes :

(A) (@), @) () (v)

(B) (i), (i), (iv), @)

(©) (@), @), @), @

(D) @, @), (), (i)

17. Match List-I with List-II and select the correct answer from the codes below :

List-1 List-11
(@) Twin Mound System (i) Rig Veda
(b) Vidath (i) Harappa Civilization
() Doctrine of Karma (iii) Arthashastra
(d) Saptang Theory (iv) Brahmanism
Codes :

(@ (b () (@
(A) @) @@ (Gv) ()
B) Gv) @ @) ()
(© @) @Gv) @) @)
(D) Gv) (D) @) @)

18. Match List-I with List-II and select the correct answer from the codes below :

List-1 List-11

(@) Dhamma Vijay (i) Samundragupta
(b) Kanyopayadan (i) Caravan traders
(c) Poet king (iii) Harsh Vardhan
(d) Sarthavaha (iv) Ashoka
Codes

(@ @ (o @
(A) @) @v) @O ()
(B) (@v) @) (@) ()
© (@v) @ @) (i)
D) @ Gv) @) (i)
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19.

20.

21.

22.

23.

24.

25.

Match List-I with List-II and select the correct answer from the codes below :

List-1 List-1I
(a) Varnashrama (i) Buddhism
(b) Tirthankara (i) Brahmanism
(c) Shaivism (iii) Jainism
(d) Vajrayana (iv) Vedic
Codes :
(@ ® (© @
(A)  (v) (D) () ()
(B) @) (@) (iv) (i)
(©) @) (@v) (@) ()
(D) Gv) (@) (D) ()
Chahlghani was dominant during the reign of :
(A) Qutbuddin Aibak (B) Iltutmish
(C) Balban (D) Alauddin Khalji
When did Babur adopt the title of Ghazi ?
(A) 1525 (B) 1526
(©) 1527 (D) 1528
The Rishi Silsilah refers to an order of sufi saints in :
(A) Kashmir (B) Ajmer
(C) Hyderabad (D) Agra
Who was the writer of Safinat-ul Auliva ?
(A) Mian Mir (B) Mulla Shah Badakhshi
(C) Nizam-ud-din Ahmad (D) Dara Shikoh

Name the two Delhi Sultanate historians whose works bear the same title “Tarikh-i
Firuzshahi” :

(A) Zia-ud-din Barani and Amir Khusrau

(B) Shams Siraj Afif and Minhaj Siraj

(C) Hasan Nizami and Amir Khusrau

(D) Zia-ud-din Barani and Shams Siraj Afif

Given below are two statements one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Zat denotes the number of troopers held by the mansabdars

Reason (R): Sawar denotes the personal status and standing in the Mughal

administrative hierarchy.
In the context of the above two statements, which one of the following is correct.
Codes :
(A) (A) is correct, but (R) is wrong
(B) Both (A) and (R) are correct
(C) (A) is wrong, but (R) is correct
(D) Both (A) and (R) are wrong
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26. Given below are two statements one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Invading of Balkh and Badakhshan and three closely spaced sieges of
Qandahar by Shahjahan resulted in nothing except the shedding of
blood, the killing of thirty to forty thousand of people, and the
expenditure of thirty five million rupees.

Reason (R): It did not have any effect on Mughal resources.

In the context of the above two statements, which one of the following is correct ?

Codes :

(A) (A) is correct, but (R) is wrong

(B) Both (A) and (R) are correct
(C) (A) is wrong, but (R) is correct
(D) Both (A) and (R) are wrong

27. Given below are two statements one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Alauddin khalji was involved in major changes in the taxation system

and collection of grain. He also undertook certain measures to ensure

low prices.

Reason (R): In the interests of expanding his forces and of maintaining them on
low pay.

In the context of the above two statements, which one of the following is correct ?

Codes :

(A) (A) is correct, but (R) is wrong
(B) Both (A) and (R) are correct
(C) (A) is wrong, but (R) is correct
(D) Both (A) and (R) are wrong

28.  Which of the following is chronologically correct ?
(A) Sangama, Saluva, Tuluva, Aravidu

(B) Saluva, Tuluva, Aravidu, Sangama

(C) Tuluva, Aravidu, Sangama, Saluva

(D) Aravidu, Sangama, Saluva, Tuluva

29. Arrange the following in correct sequence :
(A) Shams Siraj Afif, Abbas Khan Sarwani, Hasan Nizami, Minhaj Siraj
(B) Hasan Nizami, Minhaj Siraj, Shams Siraj Afif, Abbas Khan Sarwani
(C) Abbas Khan Sarwani, Hasan Nizami, Shams Siraj Afif, Minhaj Siraj
(D) Minhaj Siraj, Abbas Khan Sarwani, Hasan Nizami, Shams Siraj Afif

30. Arrange the following in correct sequence :
(A) Battle of Ghagra, Battle of Kalinjar, Second Battle of Panipat, Battle of Talikota
(B) Second Battle of Panipat, Battle of Kalinjar, Battle of Talikota, Battle of Ghagra
(C) Battle of Kalinjar, Battle of Ghagra, Second Battle of Panipat, Battle of Talikota
(D) Battle of Talikota, Battle of Kalinjar, Second Battle of Panipat, Battle of Ghagra
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26. = < weE 3 T € U w1 iR (A) IR T I HR (R) AW fe T T

HIT (A) : TG IR TE@IT W AHH AR IesTel R FHR & T % 9IS Tk o4 R
1 IR GH F8M, T | =™ g @Rl o6t 9 iR Gdre fafeem Ta2 & ==
% A B 7l o

SHROT(R) : SHEI T HHIEAI | FIE INE &l 9L |

SR < weAl % deof #, Frefafaa § 9 #9- 9 ®2

gc:

(A) (A) §& B, T (R) T T |

(B) (A) 3R (R) I @&l T

(C) (A) TTed &, W (R) Tl ¥

(D) (A) 3R (R) i TTerd ¥ |

27. 9 FwUE 3 T E, T B FAUT (A) SR E RN BR (R) HAM @ m@ g
HAT (A) : TS TS B JOTedt TR SIS Tt § G uRadi & g1 911 394
FH HFd A= w0 & fad 5o 39 off fwa |
HIUT(R) : ST it 1 FIEdR & IR 3= &0 A1 | WH & 393 H |
ST < el & Hed H, Frafafea § 9 wF- w98 72
FH:
(A) (A) F& €, T (R) TTerd B
(B) (A) 3R (R) I Tl T
(C) (A) 7T &, W (R) T |
(D) (A) 3R (R) SHI e €1

28. fr=fafad § SHET FAMHHS €9 9 2§72

(A) T, HeAl, GG, oy (B) W, I, 3feg, §H
(C) qg, 3Tfdg, T, T (D) erfeg, |, Hefl, T

29. frefafed s @@ stiha ° W@ ¢
(A) I THUS 3T, STeslTd @H |, 76 ST, s faust
(B) =& i, faerst fawrs, end TSt ST, STead W SrRamH!
(Q) I WM GRaMI, g9 feimHt, g faust stwie, Tt faust
(D) o= T9US, STealid @F R, B6H ST, w9 oSt SThi®

30. Tr=fafed &1 9@ s1gha ° W
(A) T &I GG, HIfGSK h1 5, IHIa &l Tgda g, dTciiehiel &l I§
(B) uHIga sl fgdfta g, Fifcisk =1 Ig, dleiichlel 1 Jg, SN il I§
(C) ISR &l I, HToRI 1 g5, THIId 1 fgdia g, dreiiehlel 1 g5
(D) dIeleRiel 1 g, HIfcisR &l g, THId *1 {5 g, = &l IS
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31.

32.

33.

Match List-I with List-II and select the correct answer from the codes given below :

List-1
(a) Nicolo De Conti
(b) Athanasius
() Abdur Razzaq
(d) Domingo Paes

Codes :

List-11
Russia
Italy
Portugal

Iran

Match List-I with List-II and select the correct answer from the codes given below :

List-11

Padshahnama
Muntkhab-ut-Tawarikh
Igbalnamd-i-Jahangiri
Muntkhab-ul-Lubab

Match List-I with List-II and select the correct answer from the codes given below :

(@ ((b) (o (@
(A) @) @) @) @Gv)
(B) @) (@v) @) @)
© @) @@ @v) ()
(D) Gv) (D) @) ()

List-1
(a) Mutamid Khan
(b) Lahori
(c) Badaoni
(d) Khafi Khan
Codes

(@ () (o (@)
@A) O @) G @)
B (v ) @ 0
© Gi) () @) @)
D) () (v @) @

List-1
(a) Quwwat-ul Islam mosque
(b) Alai Darwaza
(c) Atala mosque
(d) Rohtasgarh Fort
Codes :

(@ (b)) (o (@
@A) (@) @) () 0
® (O ) @) @)
© (v @) @) 0
D) @) (v O )

14

List-I1

Shershah Suri
Qutbuddin Aibek
Alauddin Khalji
Ibrahim Shah Sharqi



31. -1 &1 G-I & WY e & iR = 53 e Hohdl H 9 HEt W A1 =97 L

-1
(a) Treme fg =ifa
(b) TAIHIH
(c) 3TsgX Tuleh
(d) SIfET 9w
g

(@ @B (©© @
(A) (1) @) (D) (iv)
(B) () (v) G) (@)
Q) () @ (v) (i)
(D) (v) @) @) @)

32. -1 1 G-I & w1l foem i oIk = fod e Hohdl § | el S 1 99 Y

gei-1
a) HdAIHE @H
)

SoZ>

gei-11
() OIS e A
(i) HaEd-Id-daE
(
(

i)  SehRATA ATHI-T-STRIT
iv) HIEI-SA-dd

33. G-I &1 G-I o WY e & iR = 53 e Hohdl o 9 |&t W 61 =97 *L

~_~ o~~~ —~

’ﬁloﬂ\gcr
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Lk
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o
.o/\
z®¢

N N N N
wNOR=E

=
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N N N

—

p—

.

N
e

=]

N
A/DAA
—. ~—
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gei-11
() ¥
(i) FIIEH T
(il) SAATEA Tersit
(iv) SSIEH ATEwehi
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34.

35.

36.

37.

38.

Cornwallis code of 1793 separated :

(A) Civil from judicial administration

(B) Revenue collection from administration of civil justice
(C) The Bengal from central administration

(D) The civil from military administration

The Ulgulan (ULGULAN) was a movement of the :

(A) Agarias (B) Juangs

(C©) Hos (D) Mundas

Identify the person not favouring the idea of land tax being permanently fixed :
(A) Alexander Dow (B) Henri Patullo
(C) Philip Francis (D) Warren Hastings

Given below are two statements one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : The Roytwari system did not eliminate village elites as intermediaries
between the government and the peasantry.

Reason (R): The village power structure was hardly altered and even more
strengthened by the new system

In the context of the above two statements, which one of the following is correct ?
Codes :
(A) (A)is true and (R) is false

(B) (A)is false and (R) is true
(C) Both (A) and (R) are true
(D) Both (A) and (R) are false

Given below are two statements one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : The goal of the extremists was swaraj, which different leaders
interpreted differently

Reason  (R): The leaders coming from different linguistic zones understood it
differently.

In the context of the above statements, which one of the following is correct.
Codes :
(A) Both (A) and (R) are true

(B) (A)is true and (R) are false
(C) (A)is false and (R) is true
(D) Both (A) and (R) are false

J—0608 16



34.

35.

36.

37.

38.

1793 & hHaTerd o 128 7 g S e o ¢

(A) Tafaer =1 =nfas gemes 9 (B) ST Uehs1ehtul ohl Toferel = geimeH 9
(C) I ! hrsit ™ IS 9 (D) fafae =01 fafadt gemem |

ST foRd 1 STl o ?

(A) v (B) = (©) @™ (D) He

forg =afo A o & ol Tl ®9 § ffved w0 o 9e T8 foren an?
(A) TR (B) & aqell
(©) Frfem wifas (D) R BfEmy

= & e fed T €, T B HF (A) 3R TE R FHRO (R) H AW e m e

FHIT (A) : TATAN JUME! ¥, THR TR FIVGhR & sid qeAedi & €9 § U e o711 bl
HHE T TR

IO (R) : TTHTOT G0 1 gial Hivehal | & oIgen o 3R 8 SHewel g1 SA1Rl §gg o 741 o |

ST T el o He ) frefefga § 9 si-ar w@l ®?

g

A) (A) T T, T (R) 39A B

B) (A) 38 T IR (R) §A T

C) (A) 3R (R) THi 9 ¥

D) (A) 3R (R) SHI 319 ¥ |

~"

(
(
(
(

= § e oA T E, TH H FAA (A) 3R T H HRO (R) 1 AW fen @
HAT (A) : TSI 1 A WA o, Toewt g Jareti 3 fim €0 @ frd=m foman
ST (R) : Tt wTen Trereft of=ati | Aarsti A 9 sl &9 # wwem|

ST ®eHl & ded #, Fefafed § 9 sF-91 w9t ®2

A) (A) 3R (R) I T B |
B) (A)¥d T 3R (R) 39 T
(A) 315 B, 3R (R) ¥ €|
(A) 3R (R) ST 19A T
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39.

40.

41.

42.

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R) :

Assertion (A) : The Morley-Minto Reforms satisfied both the contending factions of
Indian National Congress

Reason (R): The Morley-Minto Reforms addressed all their concerns

In the context of the above two statements, which one of the following is correct.

Codes :

(A) (A) is true but (R) is false

(B) (A)is false but (R) is true

(C) Both (A) and (R) are false

(

)
D) (A) is true but (R) does not explain (A)

Which of the following is chronologically correct ?

(A) Parthana Samaj - Brahmo Samaj - Arya Samaj - Poona Sarvajanik Sabha - Atmiya
Sabha

(B) Atmiya Sabha - Brahmo Samaj - Parthana Samaj - Arya Samaj - Poona Sarvajanik
Sabha

(C) Atmiya Sabha - Parthana Samaj - Brahmo Samaj - Arya Samaj - Poona Sarvajanik
Sabha

(D) Atmiya Sabha - Brahmo Samaj - Parthana Samaj - Poona Sarvajanik Sabha -
Arya Samaj

Arrange the following in chronological order :
(i) The Indian Penal Code

(ii) The code of Civil Procedure

(iii) The Criminal Procedure Code

(iv) Police Act

Options :

(A) @ @) (@v) ()
(B) (@@ @) @1 (v)
© @@ @ (@v) (i)
D) @ Gv) (@) (i)

Arrange the following in chronological order :
(i) Satara Prati Sarkar

(i) Mopalah

(i) Tamralipta Jatiya Sarkar

(iv) Hool

Options :

(A) @ () @G @)
(B) G) (v) (@) (D)
(© Gv) (@) ()
(D) @) @@ @3 Gv)

J—0608 18



39.

40.

41.

42.

T 31 e el T €, T B FHUA (A) 3R E HHRT (R) H M e
HYA (A) : AR =l guri A sfeaq Tere wiow & fad 120 o0 g
SHROT(R) : AR A=l GURI 7 370t 9a Fawaieti o1 wwaitea foan

ST < el & deo H, Frefafea § 9 wF-w wdt 72

g

(A) (A) T T, T (R) 3194 2|
(B) (A) A T, W (R) TA |
(C) (A) 3R (R) THI 3189 |
(

D) (A) 9 T W (R), (A) i AT & HAT T

Frefafed =1 98t s 3 W

(A) AT TES - SRl HHS - 3T WS - AT e 99 - ST 9T
(B) ST |1 - SI&l HHIS — WA §H - 3T 6 - AT Fresieh 97|
(C) T |1 — W11 9911 - Sl §HS - 3T §HS - AT Sresieh 97
(D) ST |1 - SEl TS — WA SHS - QA1 Aresiieh 991 - 3T amt |

fr=fafed i wreshts €91 o
() 3fem da wre

J—0608 19
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43. Match the List-A with List-B using the code :
List-A List-B

(a) The Emergence of Indian Nationalism (i)  Partha Chatterjee
(b) Nationalism and Colonialism in Modern India (i) Anil seal
(c) The Nation and its Fragments (iii) G. Alloysius
(d) Nationalism wihout a Nation in India (iv) Rajnarain
Chandavarkar

Codes :

(@ () (o (@)
(A) @) () (@) @)
(B) @) @@ 3G ()
© @) (@v) @ ()
(D) @) (@v) @) @)

44. Match List-A with List-B using codes :
List-A List-B

(a) Bengalee (i). Aurobindo Ghosh
(b) Bande Mataram (if). Bankim Chandra Chatterjee
(c) Amrita Bazar Patrika (iii). Surendranath Banerjee
(d) Bangabasi (iv). Motilal Ghosh
Codes :
(@ ® () @
@A) (@) @) (v 0
B () () O @)
© (i) (v @) O
D) i) () (v ()
45. Match List-A with List-B using the codes :
List-A List-B
() Anjuman (i). Polygamy
(b) Kulin (if). Cultivator
(c) Kanakkaram (iii). Association
(d) Mitakshara (iv). Inheritance
Codes
(@ B (o @
A (O G (v G
B i) () @) @)
© @) O ) )
D) (v) @) @) @)

J—0608 20
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46.

47.

48.

49.

50.

During second world war, who said, “I have not become the King’s First Minister to
preside over the liquidation of the British Empire”.

(A) Lord Beaconsfield (B) John Lloyd

(C) Winston Churchill (D) Benjamin Disraeli

Where was the first socialist group formed ?
(A) Great Britain (B) Russia

(C) Germany (D) France

What was most obvious expression of imperialism ?
(A) Superior technology (B) Colonies

(C) Communication network (D) Cultural supremacy
Research in observation process has to be :
(A) continuous and persistent (B) occasional and general

(C) hurriedly carried proposition (D) none of the above

Who warns against defining ‘behaviour” as ‘rationality” ?

(A) Milton Friedman (B) Vincent J. Tarascio
(C) Werner Hochwald (D) Stark Werner
-00o0-
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46.

47.

48.

49.

50.

Todta fava g5 & IRM T et on & & Ton =1 vem A=t 76 51 § o fofew g &
I Y AT e |

(A) diE shHBIcS (B) S wigs
(C) fowq afew (D) oS fesiet
Y HHSTETG] Y& el o1 o1 ?

(A) T foreA (B) &4

(C) STt (D) W™

HHHAG i Fealiferen geaee sifyeafad = off ?

(A) I3 drenfirent (B) 3ufte™

(C) HIRTH (D) Wihfaeh Hai=dl
STACIR Ufshal | TN 1 BT M6

(A) Gdd o Sreierh (B) IcTehel Td HHH
(C) &Ta I WMot | G Tl (D) SR H § DS Tl

‘Jagr’ &I ‘qhanfd’ & 9§ R s & fod fea aaye feen?

(A) o wieid (B) fa&= 3. amifast
(C) =L Eerees (D) ®WTh TR
-00o0-
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